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1. Find KG in the figure below. Tell what theorem/postulate that you used.
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what theorem/postulate you used.
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For questions 3-5, write the equation for the perpendicular bisector of each segment.
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5. J(-7, 5) and K(1, =1)
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For questions 6-8, two side lengths of a triangle are given. Find the possible lengths for

the third side. c—b < thivd Side o=
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9. List the sides of the triangle below in order from shortest to longest.
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10. Three sides of a triangle are n + 1, n + 2, and n + 3. Find the range of possible values for
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